Q3 question

Find the closed-loop transfer function for the systems shown below.
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Q4 question

4. Reduce the block diagrams shown below to obtain the transfer function using block combination rules.
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Q4 question

» Y(s)

(s

©) H,
+
Uis) = G, G
Hy |e
At Y(s) _ G1G,G3
S0 16,60 + 6, GH,
(d)
> G4
T +
L(b) — G] (>
Gs

Y(s) _ G3(G1G, + Gy)

Afis: =
BTG 1+ 6Ga6:06:

» Y(s)



Q4 solution

(c)
)3H

W‘—’»@-ﬂ}; a_g

“\

(Q’7 \((s)

Ues + _»l &
= IR g [ (’AH» 7|:—;\_—9 By
—\ H
\A(Qﬁl Lr—?‘ Gz — Y/g y
GG
4 _TFGGH, G,G,

1+ _GiGH, 1% 660, + 6361,
G [ S

—

A\ Y)

é%é;é, Y'
> —) (®
4 6.6, Ho+ 6,6

Y(s) o G,G,G;
U(s) 1+ G,G3H, + G,G,H,




Q4 solution

(d) ]

\C);(#C:Zy“'(l‘(fv
>
Mo =)= (WB;L)&J' |G

Y(s) _ G3(G1G; + G4)
U(s) 1+ G,G3Gs




